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self integrator ~ RC integrator

1)
Eaton
18 ¢m 10.18 cm2
( ) 21.36 cm. 1
. .r=18cm
/ . .A=10.18 cm2
, / v v=1lcm
o 122136 em
k=
S
b AE pREEN]
1
)
integrate
(connector)
integrate (x)  integrator integrate

£10% integrate 10

87



"8/20 ‘ 20
integrate 200 (as
SR
3 kv
self integrator
integrator 4.8
self integrator
integrate X - L/(R+RQ = 1/ ! @ = —
1 15

mm

©1< 5000 rad/s

self integrator

(y) 0.075

X- LI/(R+Rr) > 200
2h 2

KR —
(23r+ 251)

Q/m
(v) 0.11

R<<RC ~ Rc=vNy

r2N2

r=18cm, 1=21.36 cm, V=011 m y = 0.075 film

1.82 XN2
(23X1.8)+ (25X21.36)

1 200X0.11X0.075
1.8X1.8
N> 294

> 294

+10%

(200X 0.11X NX 0.075)

5754

88

N-type

X > 200

0.5

304



RC integrator
C 7= (R+Rc).C R

100 kA (425 V ()= — .L(1) R = 10 kQ
p

T=RC =1000 1S> 200

RC integrator

d di di
V = —(q: .n.A.—p—: M—p— ’ M= 0nA
dt 0 dt dt

ve =3 kv
A=1018 cm2 (4.5) M

0. A(")

4110 digdt 1 '
dip/dt = 100x103/ 4.14x106= 24 X 109 A/

3X103 T
ATTX10-7 X10.18X10-4 X24.15X109
= = NIl
I=21.36 cm =0.2136 m
N =21
RC integrator

100 kA

21



1) (CRO) LeCroy 9384M 1GHz

* 1 GHz Bandwidth
« Sample rates to 4 Gigasamples/second
« Memory lengths to 8M points
* Vertical accuracy to 1% typical
* Triggering to 1 GHz
* Floppy Disk, Internal Printer
e Zinpy, L Mohm
* Range:
100 mV/div-10 V/div

2) HAEFELY Nr.142818

response time 10 ns

200kV

1-4 GSIs

90

3) Current probe model 93686-9 Eaton Corporation Electronic Instrument Device

50kA 10 kHz-250 MHz
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-10kV

Test

-10.6
-10.6
-10.6
-10.6
-10.6
-10.6
-10.6
-10.6
-10.6
-10.6

Ref
-10
-10
-10
-10.1
-10
-10.1
-10
-10
-10
-10

+10kV

Test
10.38
10.38
10.44
10.44
10.44
10.44
10.44
10.44
10.44
10.44

Ref
9.85
9.85
9.85
9.91
9.9
9.9
9.9
9.9
9.9
9.9

-20kv

Test

-213
-21.3
-21.3
-214
-213
-213
-214
-213
-213
-213

Ref

-20.2
-20.2
-20.2
-20.2
-20.2
-20.2
-20.2
-20.2
-20.2
-20.2

+20kV

Test
21.24
21.22
21.24
21.24
21.22
21.24
21.24
21.24
21.24
21.24

Ref
20.1
20.2
20.2
20.2
20.2
20.2
20.2
20.2
20.2
20.2

?

-30kV

Test

-32.1
-32.1
-32.1
-32.1
-32.1
-32.2
-32.1
-32.1
-32.1
-32.1

Ref

-30.3
-30.3
-30.3
-30.3
-30.3
-30.3
-30.3
-30.3
-30.3
-30.3

+30kV

Test
32.08

Ref
304

32.08 3042

32.02
32.08
32.08
32.04
32.04
32.08
32.08
32.08

304
304
304
304
304
304
304
30.4

-40kV

Test

-42.7
42,7
42,7
42,7
42,7
-42.7
-42.7
42,7
-42.7
-42.7

Ref
-40,6
-40.6
-40.6
-40.6
-40.6
-40.6
-40.6
-40.6
-40.6
-40.6

+40kV

Test
42.73
42.13
42.73
42.73
42.13
42.73
42.73
42.73
42.73

43

Ref
40.68
40.68
40.68
40.68
40.68
40.68
40.68
40.68
40.68
AOS

-50kV

Test

-53.3
-53.3
-53.3
-53.3
-53.4
-53.3
-534
-53.3
-53.3
-53.3

Ref

-50.7
-50.7
-50.7
-50.7
-50.7
-50.7
-50.7
-50.7
-50.7
-50.7

+50kV

Test
53.5
53.5
53.5
53.5
53.5
53.5
53.5
53.5
53.5
53.5

Ref
50.77
50.77
50.77
50.77
50.77
50.77
50.77
50.77
50.82
50.82

-55kV

Test

-58.5
-58.5
-58.2
-58.5
-58.5
-58.2
-58.5
-58.5
-58.5
-58.5

Ref

-53.9
-55.6
-55.6
-55.6
-55.6
-55.6
-55.6
-55.6
-55.6
-55.6

+55kV

Test
58.8
58.8
58.8
58.8
58.8
58.8
58.8
58.8
58.8
58.8

Ref
55.79
55.79
55.85
55.85
55.85
55.85
55.79
55.85
55.85
55.85
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v)s S
0215 vIC e
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3 10.0 V oc -1 1 BC-5ELV
}A via NCRVAL
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18 45 =T e I e
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165V @
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4.1V +a O NRVAL
174018
10 ps 2
9.9V
L]
"
16 ps
mwv
nininun(7) 533 V
« @ 853y
0ps
099V N
21701 o
31001 -1 1 DC-57y
4.1 V NORVAL

(e) 50 kv

18:07:23

//
A

ninfmm (t)
ninimint2)

13-jep-81
17:42:91

-21.39
-3.510 V

(b) 20 kv

O NCRVAL

a— 1

[lov: |

=

A}

Py

A\ £\
\E

|

|
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|

|

alnisn(]}
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litps  BL
138V @
170V a
3100y C
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2.1
-b.98 v

(d) 40 kv

0 NORHit
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T

,A,\\_, L

=
B et
7

r
ninicuc (]t
nimru*(2)

1l s oM
199V
0158 VT
3100 ~[_
4.1V oiQl

-58.5
-9.50

1 DC-57V

(f) 55 kv

A = Standard divider 1B = Test divider
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13-Sep-0]
15:23:55

1
18 ps
z.08v

Ifl M8 B

12.00 vIC
5 VvV C

11yt

13-5ep-81
16:44:19

"
118 s
|S6Y

10 MB S

156 V C
1.D0 V oc

178

13->ep91

00 9L
0100 V@
2172y C
3100 VIC
4.1 V ta

naximin(l)
naxinun(2)

(a) 10 kv

1153 vV
1.927 V

iwximmtl)

3205 y
naximin(2) 525y

I~ 1 102y

(c) 30 kv

P
!

I

RaxiRu 1) 535y

RaXi«  2) 3ssy
P 1102y

(e) 50 kV

A = Standard divider

2

15:31:3¢

—
|18 s =
AR
] |, BS

& [ b ED
118 e R [ \\‘s_ "
na v T 1
IR D 5 e
! 11
| |
RHxmung|) 2124 V
MxiPKJB(2) 3521 y
8 .
1376 VIC
091 VIC
OC3.55 V

41V

()20 kv

[1/

naxtmual])
RaxImini2)

BM M
18.6V
152 VT
3108y C 1
4-1 y ta

13-&P-91

naxinuni])
RHximinii)

92Ey

712

1 @10y

(d) 40 kv

585 y
067y

I @102y

(d) 55 kv

B = Test divider
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self integrator

20kA

,_\
o a2

el un 2 ampie % e un 3 ample 5
i
< C1 Max C1 Max
i 4.04 Vv 4.04 Vv
C2 Max C2 Max
2.04V 2,04V
WO YO0V TCRTT 00V ME008s ChT 7 240mV 24 Oct 2000 W0V TR TS0V T MSIO0HS TR 290mY 24 oct 2000
15:21:38 15:21:56
Standard :T,=8.10us, T,=21.75us Standard : T, =8.10us, T,=21.75us
Rogowski : T,=7.45us , T,=19.78us Rogowsk! : T =7.45us, T,=19.79us
e un: E 2 ample 4 e un: ? & ample .
i : 1 : )
i i
H C1 Max T C1 Max
i 4.04V 4.08V
1
i C2 Max €2 Max
¢ 2.08V 2.04V
i
; A '
W00V 100V M3.00ms CRi 7 240V 24 Oct 2000 MS00Hs CAT 7~ 290mV 24 Oct 2000
15:22:30 15:23:15
Standard :T,=8.10us, T,=21.75us Standard : T ,=8.10us, T,=21.75us
Rogowski : T,=7.45us , T,=19.79us Rogowski : T =7.45us , T,=19.79us
e un: 3 ? T ample ) €l un: N ?“ _ﬂe_ ____________ ]
C1 Max + C1 Max
4.04v i 4.08V
o
C2 Max i €2 Max
2,04V . B\ 2.08V
{ S | : ; : I i ;
W] Y00V ChE 100V ME.00ps ChT 7 240mV 24 Oct 2000 7T W5 00us mV 24 Oct 2000
15:24:00 15:24:45

Standard : T ,=8.10us, T,=21.75us
Rogowski : T,=7.45us , T,=19.79us

Standard :T,=8.10us, T,=21.75us

Rogowski : T,=7.45us , T,=19.79us
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e un. S ampie l e un. f Z ample 5
B C1 Max C1 Max
4.04V 4.08V
C2 Max €2 Max
2.0V 2.04V
Ch | I BT A o P T 5-005S 0MY 24 Oct 2000 “00Hs CRT 7~ 240V 24 Oct 2000
15:25:30 15:27:01
Standard :T,=8.10us, T,=21.75us Standard :T,=8.10us, T,=21.75us
Rogowski : T,=7.45us , T,=19.79us Rogowski : T,=7.45us , T,=19.79us
ek Run: s _Sample 5 ek Run: /f _Sample A
i
B C1 Max T C1 Max
4.08V i 4.08V
€2 Max €2 Max
2.04V 2,04V
WO 100V TR T80V MEI00S CRT 7 240MY 24 oct 2000 W00 VR 00V WS 00 CRT 7 Z90MV 24 Oct 2000
15:27:01 15:20:12

Standard :T,=8.10us, T,=21.75us
Rogowski : T ,=7.45us , T,=19.79us

Standard :T,=8.10us, T,=21.75us
Rogowski : T,=7.45us , T,=19.79us




20kA

96

e un ls i ample § € un: 10. ample
C1 Min C1 Min
-4.12V -4.08V
C2 Min C2 Min
-2.06V -2.04V
CRT 100V @iF 500mV  M5.000s CRT\ -240mV 24 Oct 2000 CRT T8V il 500mvV M 5.000s ChT ™\ =240mV 24 Oct 2000
16:20:46 16:22:05
Standard :T,=8.10us, T,=21.75us Standard :T,=8.10us, T,=21.75us
Rogowski : T ,=7.49us , T,=19.55us Rogowski : T,=7.49us , T,=19.55us
e un: 1 = ampie 3 € un: . ? E ampie y
7 i 2 1
i
C1 Min C1 Min
-4.08V -4.08V
2 Min C2 Min
=2.04 V ; -2.04V
SRR TN B P R [T s, ey 4 et
TR T80V~ &IES00mV — MSI00Hs CRT U =240mV 24 Oct 2000 IV 24 Oct 2000
16:21:25 16:22:45
Standard :T,=8.10us, T,=21.76us Standard : T ,=8.10us, T,=21.75us
Rogowski : T,=7.49us , T,=19.55us Rogowski : T,=7.49us , T,=19.55us
e un: ? 5 ample g e un: B 'S Z ample 5
A
1 C1 Min C1 Min
§ -4.12v -4.08V
i «
i €2 Min c2 min
. 1. ~2.04V -2.06V
EPIRUOTSS TIOR8 S

3 : :
it b

& ;

wi,

|

mv: 24 Oct 2000
16:23:27

- ps.

mV: 24 Oct 2000

16:24:07

Standard : T, =8.10us, T,=21.75us
Rogowski : T ,=7.49us , T,=19.55us

Standard : T ,=8.10us, T,=21.75us
Rogowski : T,=7.49us , T,=19.55us




97

C1 Min
-4.08V

C2 Min
-2.04V

16:24:49

m 00ps =240m

24 Oct 2000
16:25:33

Standard :T,=8.10us, T,=21.75us
Rogowski : T,=7.49us , T,=19.56us

Standard :T,=8.10us, T,=21.75us
Rogowski : T,=7.49us , T,=19.55us

i3 am
ek Run' IS 2 ple

1

C1 Min
-4.08V

€2 Min
=2.06V

16:26:08

@K Run: 10, s
[ 4 on

. i Bai s
'Cﬁr‘—r.'(rn'v—‘mzr-'suwv‘—wrstn‘oas—tﬁr‘t“-‘rﬂﬁ‘nvJ

C1 Min
-4.08V

€2 Min
-2.04V

24 Oct 2000
16:26:49

Standard :T,=8.10us, T,=21.75us
Rogowski : T,=7.49us , T,=19.55us

Standard :T,=8.10us, T,=21.75us
Rogowski : T,=7.49us , T,=19.55us




L ’ L8120 s
r
12:20:12
S ps
188 v
= R
5.8V //_a_\ \\
4 AN i
nnnnnnn [0
nnnn fl(2)
5 M BAL
iive B
310 Vv oC
5 1 C NCRVAL

Rogowski :T1=/.91us , T2=21.5us

13:24:56
ooy
O
Sys £ \
S8V ov“
\'\“ 1
nxinonth 1y
Sy D/
Standard :T1=/.95us , "2=21 .0us
Rogowski :T1=/.91 us 1T2=21.5us
T TN
5.8V //—_\ \\
ARECA NN
rorinkt S R A

Rogowski :T1=/.91us 12=21.5us

RC integiator

20kA

98

P A re;

. /f‘—\s\

4 G i
3; (1)
nnnnnnn (2)

TS 0
Standard :T1=/.95us ,T2=21.0us
Rogowski :T1=/.91us , T2=215us

12:22:38

5 ps /-\A@

s.ev //..—(:?\_\
1V : \\“ i
naxinun(]) 1.4 v
naximun() 13.88 v

5

ENERI

Standard :T1=/.95us , T2=21.0us
Rogowski :T1=/.91us , T2=21.5us

D/

12:81:01
1
5 ps
.58
=
S ps l/-_ \
5.8V @' \
/ N 1
B
maximun(l) 1.763 v
naxinun(2) 13,714V
5 M8 BAL
1.5 Vv C n /
0 5 VvV IC
310 oc
4.5 VvV C 0 NORHAL

Standard :T¥/.95us , T2=21.0us
Rogowski :T1=/.91us ,T2=21.5us



09-NOV-01
12:85:35

5 ps
e.58 v

I

L <

16 HSIs

iBYT _a- 2 oc <7
[ \ D NORVAL

Standard :T1k=7.95us, 2=21.0us
Rogowski :T,=7.91Us 1 '2=21.5us

v &
/

t

Piaxifluntp
naxifluntp

W i<j HSIs
o 2 @47y gl

standard :T1=7.95US 172=21.0us
Rogowski :T,=7.91us, 2=21,5us

1.768 y
13.74 V

5

8 ocrg
<< <<

|
a
3 1
4

2

99

09-NOV-01

2:101
t Sus
1.88 Vv
e,
5.8V ///—_\;\1
b / d%\ i
G|
flax!nun (P 175 V
flaxinufICP 13.80 V.
5 PS an
31 ; y P 2 10 HSls
poy oty —
standard ;T 1=7.95us 1T2=21.0us
Rogowski :T,=7.91Us , T2=21.5uS
09-NOU-01
12:38:12
! S s
1.88 v
S s /- <
5.8V ///_.._\ \\
1V O, | i
ftaxinunCp 1.74 Vv
naxinuntp 13.88 vV
5 ps BAL
WL Yo ? 10 uss
310 oc DC 3.1V
45 y @ 0 NORHAL

standard :T,=7.95us 1" 2=21 Ous
Rogowski :T,=7.91us . "2=21.5uS



2, 8120 1S

13:01:37
i 5
ys ———
a8V P 1
= .
)% 2
W&
5 ps .«/
i RITTA7
A
& 4
™
BiniBuaC1) 771V
BiniBuB(2> -13.73 vV
5N BAL
t «8'V oc
9310V 10 HSls
310 v aC
4. vV 0 NORVAL

Standard :T1=7.95us , T2=21.0US
Rogowski :Ti=7.91us,T2=21.5us

e
-429‘:’ MF%]
B 17 T A
e | IRA\VO j74
£y \ i
&\ ¥
AN //
~
B
BniflUR
Standard :T1=7.95us ,' 2=21.0us
Rogowski :T1=7.91us,T2=21.5us
‘:?:7:752’
& T T
n 7 T ?
nS ps \\ /
gl | Y I Y 74
NP4
I~V
@1\
BiniBUB(f)
BiniBUB(2)

Standard :T1=/.95us 1T?=21.0us
Rogowski :T1=/.91us , "2=21,5us

100

20kA

@9-Nov-81
13:83:91
5 ps ——
0am L~ 1
1® Vv 2
\
3 §\ L r
ERURY /
\ N A /
| S
OAN A
. g
ftininun [0} 1771
nnnnnnn 2) 13.73
5NV BAL
14006V oc
g 3.10 y 0 10 HSIs
310 V I©
4.5 V NCRVAL

Standard :T1=7.95us , T2=21 .0us
Rogowski 1 =7.91 g 2=21.5u8

89-Nov-81
13:15:35

1
5 ps
eam

Ty |\
318V \ //

@V\

)

5 Ms BAL
14006V DC
g 3.10 V OC
310 y oC
4.5 y OC 0

Standard T 1=7.95us , T2=21 .0us
Rogowski :T 1%=7.91us,T2=21.5us

A e
\\
PN

10 MSIs

NORMAL

89-Nou-81
13:19:22

1
5 ps
108mv

= iy

NN
AN

NN

N
N
N

£l
4d®
AN

5V BAL
1 400bV oc
g 310 V IC
310 y oC
4-5 y

Standard :T1=/.95us 1'2=21 .0us
Rogowski :T1:=/.91us , T2=21.5u8

10 MS/s

0 NORMAL



101

@89-Nov-81 89-Nov-81
13:22:22 13:87.91
! 5 ps t S ps
40amv 1 88y ' | 1
) v 2 —'1® 0% )
S s ‘\ / S s ‘\ 4/
v \\ // ERURY \\ /«/
NS W[ Y/
p~ A
miainuat]) -1.761 V nininun(]) Ly
rininun(2) -3V nininun(2) 13,713 v
S s BRL 5 s BRL
é e 18 Hs/s é T 10 Ms/s
4?2:: Tl ey O NoRMAL 4::: B O NoRMAL
Standard : T ,=7.95us, T,=21.0us Standard :T,=7.95us, T,=21.0us
Rogowski : T =7.91us , T,=21.5us Rogowski : T,=7.91us , T,=21.5us
89-Nov-81 89-Nov-81
13:29:50 13:99:37
4:0‘::4 /—"‘M| 4:0:; 1
Jz8 2 - s 2
3e ¥ A 7 A\ LY.
| Y 7 B | 10\ B Y 74
M | XA NVCIP &
\\\l // \l \ A/
o il —
nininunl(]) -1.769 v LILILTCIS B 1.1
mininun(2) -13.73 v nininua(2) -13.Mv
5 ps BKL Sus BRL
é;mﬂv p 16-%s/9 é TR 18 KS/s
s L 2 e o o fEis L Be o oo

Standard : T ,=7.95us, T,=21.0us
Rogowski : T ,=7.91us, T,=21.5us

Standard :T,=7.95us, T,=21.0us
Rogowski : T,=7.91us, T,=21.5us




3. 4110 s

«

16:24:38
1

5 s <
488w

o /
J.ee v y

o \i 1
{ \ Pt M
G‘ a1
T
inun(D 1.997 v
inun(2) 15.42 v
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Rogowski :T,=4.17us , '2=10.95US
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Standard :T1=4.14us , T=10.87us
Rogowski :T1=4.17us , T2=10.95us
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Rogowski :T1=4.17us , 72=10.95us
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Rogowski : T 1=4.17us , T2=10.95us
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Standard T 1=4.14us 1T2=10.87us
Rogowski :T=4.17us ,72=10.95us
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Standard :T]=4.14us ,T2=10.87us

Rogowski :T1=4.17us . T2=10.95us
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X3ximj*(2> 7.80

Vcharge = 7 kV
Standard :T,=7.95us 1' =21 jaus 11=10.92 kA
Rogowski :T,=7.91us , '2=21.5US 11=11.16 kA
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Vcharge = 7 kv
Standard :T,=7.95us , '2=21 Ous , 1=11.03 kA
Rogowski :T,=7.91us 1'2=21.5US 11=11.29 kA
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Vcharge = 7kV
Standard :T,=7.95us 1' 2=21 .Ous 11=11.03 kA
Rogowski :T,=7.91us , T2=21.5us 11=11.18 kA
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Vcharge = 12 kV
Standard :T$7.95us ,T2=21.0us , 1=19.32 kA
Rogowski :T,=7.91us , 2=21.5US 11=19.14 kA
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Vcharge = 12 kv Vcharge = 12 kV
Standard :T1}=7.95us, "=21.0us ,1=19.24 kA  Standard

:T1=7.95us 1T2=21.0us 11=19.17 kA
Rogowski :T,=7.91us ,"2=21.5US 1E19.36 kA

Rogowski :T,=7.9103 ,17=21.5us 11=19.32 kA
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Vcharge = 20 kv Vcharge = 20 KV
Standard :T,=7.95us , 2=21.0us 11=31.58 kA

Standard :T,=7.95us 1"2=21.0us , 1=31.81 kA
Rogowski :x =7.91us 1'2=21.5us 11=31.76 KA Rogowski :

o '=7.91us , T2=21.5us 11=31.76 kA
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Vcharge = 20 kv Vcharge = 26 KV

Standard :T,=7.95us 1T2=21 .0us 11=31.65 kA Standard :T,=7.9505 , ",=21.0us 11=42.08 kA
Rogowski :T,=7.91us ,T2=21.5us 11=31.76 KA Rogowski :T,=7.91us ,17=21.5us 11=42.02 kA
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Vcharge = 315 kv
Rogowski :T1=/.91Us, T2=21.5us , 1=50.82 kA
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Vcharge = 315 kv
Rogowski : T1=/.91us 1'2=21.5US 11=50.82 kA
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Vcharge = 26 kv
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Vcharge = 31.5 kV

Rogowski :T1=/.91Us 1' 2=21,5us 11=50.82 kA
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Vcharge = 45 kV
Rogowski :T,=7.91US 1T2=21.5us , 1=73.04 kA
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Vcharge = 47.5 kV
Rogowski :T,=7.91us 1'2=21,5us 11=77.11 kA
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Vcharge = 47.5 kv
Rogowski T1==7.91us, 2=21.5us, 1=77.11 kA



111

L 8/20
18:40:24 ]
P we | [® g B |
\g)
PN f— =11
B u - o \\.\__/ poestood A
SN
]
lllll unt 1) -1.855 v
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4.5 Vv C NORVIAL 4.5 Vv c NORVAL
Vcharge = 7.2 kv Vcharge = 7.2 kvV

Standard :T1=7.95us 1T2=21.0us , 1=11.63 kA ~ Standard :T]=7.95us ,T2=21.0us 11=11.63 kA
Rogowski :T,=7.91us ,T2=21.5us , £11.60 kKA~ Rogowski :T,=7.91Us, 2=21,5us , 1=11.60 kA

18:43:31
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5 o e
. o) > N
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5m BAL 5 e B
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Vcharge = 7.2 kv Vcharge = 12 kv

Standard :T,=7.95us ,T2=21 .Dus , 1=11.66 KA  Standard :T,=7.95us 1T2=21.0us 11=19.22 kA
Rogowski :T,=7.91us , 2=215US , F11.60 KA Rogowski :T,=7.91us 1T2=21.5us 11=19.48 kA
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Vcharge = 12 kv Vcharge = 12 kv

Standard :T,=7.95us ,T2=21.0us . £19.20 kA standard :T,=7.95us ,T2=21.0us , £19.22 kA
Rogowski :T1=7.91us ,"2=21.5US , 1=19.48 KA Rogowski :T1=7.91us ,T2=21.5us , 1=19.45 kA
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Vcharge = 19.5 kv Vcharge = 19.5 kv
Standard :T,=7.95us 1T2=21 .Ous , 1=31.06 KA~ Standard :T1}=7.95US 1 2=21.0us , 1=31.06 kA

Rogowski :T,=7.91Us1 2=21.5us , 1=31.02 kA

Rogowski :T,=7.91US 1 2=21,5us 11=31.02 kA
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Vcharge = 19.5 kv Vcharge = 24.5 kv
Standard :T,=7.95us 1T2=21 .Ous , 1=31.06 kA  Standard :T,=7.95us 172=21.0us 11=39.52 kA

Rogowski 7 =7.91us 1"2=21,5us 11=31.02 kA
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Vcharge = 24.5 kv Vcharge = 24.5 kv
Standard :T,=7.95us ,T2=21.0us , 1=39.56 KA  standard :T,=7.95us ,12=21.0us 11=39.56 kA

Rogowski :T,=7.91us

, '2=21.5us , 1=39.49 kA

Rogowski :T,=7.91us , T2=21.5us 11=39.49 kA
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Vcharge = 30 kV

Rogowski :T2%=7.91 1 2=21.5us 11=4851 kA
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Vcharge = 38 kV
Rogowski :T1=7.91us ,T2=21,5us 11=60.83 kA
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Vcharge = 30 kv
Rogowski :T,=7.91us, '2=21.5US 11=48.51 kA
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Vcharge = 38 kv
Rogowski :T,=7.91us, 2=21,5us 11=60.83 kA
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Vcharge = 44 KV
Rogowski :T,=7.91us , T2=21.5us 11=71.17 kA
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Vcharge = 44 KV
Rogowski :T1=/.91us 12=21 5us |=-70.62kA
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Vcharge =475 kv
Rogowski : "1=/.91us 1 2=21 5us I= -77.11kA
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Vcharge = 44 kV
Rogowski :T1=7.91US 1T2=21.5us 11=70.62 kA
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Vcharge = 47.5 kV
Rogowski :T,=7.91us , T2=21.5us |= -77.11kA
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Vcharge = 47.5 kv
Rogowski :T,=7.91us 1'2=215US |= -77.11kA
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Vcharge = 4.5 kv
Standard :T14.14us 1 2=10.87US 11=1151 kA
Rogowski : T1=4.17us 1T2=10.95us 1£11.59 kA
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Vcharge = 4.5 kv
Standard :T1=4.14us ,72=10.87us , 1=11.5'KA
Rogowski :T,=4.17us 1'2=10.950S . £11.59 kA
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Vcharge = 4.5 KV
Standard 1 1=4.14us ,T2=10.87us , 1=11.42 kA

Rogowski :T,=4.17us 112=10.95US , 1=11.63 kA
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Vcharge = 8.5 kV
standard :T1=4.14us . T2=10.87us , 1=21.91 kA
Rogowski :T,=4.17us , T2=10.95us 11=22.24 kA
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Vcharge = 8.5 kv
standard :T1=4.14us 1 2=10.87US 11=21.95 kA  Standard

Rogowski :1,=4.17
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Vcharge = 8.5 kV
:T1=4.14us 1 '2=10.87US 11=21.59 kA

1T2=10.95us 11=22.19 KA Rogowski : T,=4.17us 1T2=10.95us , 1=21.97 kA
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Vcharge = 12.5 kv

Standard :T14.14us 1 2=10.87US 11=3353 kA Standard :T,=4.14us 1T2=10.87us 11=33.48 kA
Rogowski :T14.17us 1 2=10 95us 11=33.23 kKA Rogowski :T,=4.17us 112=10.95US 11=33.23 kA
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Vcharge = 16.5 kV

Standard :T1=4.14us 1T2=10 87us 11=33.48 kA Standard :T21=4.14us ,T2=10.87us , 1=41.59 kA

Rogowski :T1=4.17us ,T2=10.95us 11=32.23 KA  Rogowski :

"=4.17us 1T2=10.95us 11=42.24 kA
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Vcharge = 16.5 kV Vcharge = 16.5 kV

Standard :T1:=4.14us ,72=10 87us , 1=4157 kA standard :T1=4.14us ,T2=10.87us , 1=41.57 kA
Rogowski : T1=4.17us , T2=10 95us , 1=41.38 kA Rogowski :T1=4.17us , T2=10.95us , 1=41.37 kA
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Vcharge = 20 kv Vcharge = 20 kv

Rogowski :T1=4.17us , T2=10.95us , 1=52.58 kA Rogowski : T1=4.17us 12=10.95us , 1=52.25 kA
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Vcharge = 20 kv Vcharge = 24 kv

Rogowski T 1=4.17us , T2=10.95us , 1=52.91 kA Rogowski :T,=4.17us 172=10.95us 11=61.49 kA
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Vcharge = 24 kV Vcharge = 24 KV

Rogowski T 1=4.17us, T9=10.95us , 1=60.61 kA  Rogowski :T1=4.17US 1T2=10.95us 11=60.83 kA
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Vcharge = 28 kV Vcharge = 28 kV

Rogowski :17=4.17115 172=10.95us 11=71.17 kA" Rogowski :T,=4.17us 1 2=10.95US , 1=71.17 kA
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Vcharge = 28 kv Vcharge = 32 kV

Rogowski :T1=4.17us ,T2=10.95us 11=71.61 kA  Rogowski ;T 1=4.17us 1'2=10.95US 11=83.05 kA
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Vcharge = 32 kV

Rogowski : T,=4.17us , T,=10.95us , I=83.05 kA

Vcharge = 32 kV

Rogowski :

T,=4.17us , T,=10.95us , I=82.5 kA
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Vcharge =4 KV Vcharge =4 kV

Standard :T1=4.14us 1T2=10.87us 11=10.23 kKA Standard :T1=4.14us ,T2=10.87us 11=10.34 kA
Rogowski :T1=4.17us , 2=10.95US , 1=10.34 KA Rogowski :'11=4.17us , T2=10.95us 11=10.34 kA
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Vcharge = 4 kV Vcharge = 9.5 kv

Standard :T1=4.14us 172=10.87us , 1=10.23 kKA Standard :T1=4.14us , 2=10.87US 11=24.63 kA
Rogowski :T1=4.17us ,T2=10.95us 11=10.34 kA  Rogowski :T,=4.17us ,T2=10.95us 11=24.75 KA
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Vcharge = 9.5 kv Vcharge = 9.5 kV

Standard :T,=4.14us 172=10.87us 11=24.57 kKA Standard :T1=4.14US 1 2=10.87US 11=24.63 kA
Rogowski :T1¥4.17us 1'2=10.95US , 1=24.75 kA Rogowski : ':=4.17US , T2=10.95us 11=24.75 KA
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Vcharge = 12 kv Vcharge = 12 kv

Rogowski :T,=4.17us ,12210.95US 11=31.46 kA  Rogowski :T1=4.17us 1T2=10.95us 11=31.26 kA
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Vcharge = 12 kv Vcharge = 16.5 kV
Rogowski :T,=4.17us 172=10.95us , 1=31.26 kA  Rogowski :TI=4.17us ,T2=10.95us 11=42.68 kA
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Vcharge = 16.5 kV Vcharge = 16.5 kV

Rogowski :T1=4.17us 1T2=10.95us , 1=42.46 KA Rogowski :T ,=4.17us 1T2=10.95us 11=42.73 kA
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Vcharge = 20.5 kV Vcharge =20.5 kV

Rogowski :T,=4.17us 1T2=10.95us , 1=529 kA Rogowski : T1=4.17us 1T2=10.95us , 1=52.9 kA
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Vcharge = 20.5 kV Vcharge = 25 kv

Rogowski :T,=4.17118 , T2=10.95us 11=53.24 kA Rogowski :T,=4.17us ,T2=10.95us , 1=63.91 kA
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Vcharge = 25 kV Vcharge = 25 kV

Rogowski :T,=4.17us 1 "2=10.95US 11=63.91 kA Rogowski :T,=4.17us 1T2=10.95us 11=64.46 kA
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Vcharge = 28 kv Vcharge = 28 kV
Rogowski :T1=4.17us 1T2=10.95us , 1=71.83 kA Rogowski :T1=4.17US ,T2=10.95us , 1=71.83 kA
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Vcharge = 28 KV Vcharge = 32 kvV
Rogowski :T,=4.1705 , '2=10.95US 11=71.83 kA Rogowski :T,=4.17us 1'2=10.95U 11=83.49 kA
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Vecharge = 32 kV Vcharge = 32 kV
Rogowski :T,=4.17us ,T2=10.95us , 1=83.49 kA Rogowski :T1=4.17us 1"2=10.95US 11=83.49 kA
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4 .. 2516

2531
2541

2542 Electromagnetic compatibility (EMC)
SIEMENS Technical sale support
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